ADDITION PROBLEMS
KS1 —-2001 Paper
1.

15, 25 and 35

2.
3 more fives.

So:5+5+ 5+5+5 =25

3.
L L
8l 56
26 \ /L
22 19

4.

136

KS1 - 2002 Papers
5.

16 20 (children) 1



25 Ticks drawn on 24 and 26
7.
26 Writes 20 and 29 as
shown:

KS1 -2003 Paper 1

8.

: ©

KS1 - 2005 Paper 1
9.

One example: 13+7+3=23 etc.

KS1 —-2007 Paper 1

10.

is | less than
o == 20

9 in 10 Lo than @

Writes In upper shapes any
two numbers that total 17,
eg 8 and 9.

Writes in lower shapes any
two different numbers that
total 17, eg 11 and 6.

Accept any other clear way of
indicating the correct numbers.

Do not award the mark if extra
numbers are ticked unless it is clear
that the correct two are the child's
final chaoice.

& Do not award the second mark if
both calculations are identical or if the

child uses the same numbers in reverse

order, eg writes 5 + 12 for the first total
and 12 + 5 for the second total.

Accept 0 and 17 written In one of the
pairs of shapes.



Use the acceptable and
unacceptable responses
given on pages 28 and
29 to help you make
your decision.

KS1 —2007 Paper 2

11.

KS1 —2009 Paper 1

12.
13.



14.

10 Writes 4, 8 and 3 in any order to create an
addition, eg

4+8+3=15
or

8+3+4

or

44B8B=12+3=15

1 14 {seeds)

KS1 - 2016 Paper - Reasoning

Accept a correct addition without an
answer of with an Incorrect answer.

Accept any of the following:

® partially complete additions,
ie12+3,11+4o0r7+8

® 3 given number split into two new
numbers,eg2 +2+8+3

m tallies used with symbols, eg
TEEL 4 TNERVLED 4 111

Do not accept the answer 15 given
without an addition,

15.
23 | Award the mark for either calculation: im
H + 26 = 57
OR
26 + < = 57
KS1 — 2016 Paper - Arithmetic (Second)
16.
B Tm |
KS1 — 2016 Paper — Reasoning (Second)
17.
T 12 (shells) im

18.




[ =i
25 im All three pairs must be correctly matched
20+8 L t 30 + 28 for the award of the mark.
Do not award the mark if a sum is
matched to more than one sum.
50 +8 70 + 18
lgnore any extra lines drawn from 20 + 8
80 +8 1 1 10 +4
90 + 8 50 + 48
KS1 —2017 Paper — Arithmetic
19.
17 | 7 im
KS1 —2017 Paper — Reasoning
20.
18 | Award TWO marks for the three sums 2m All three sums must be correct for the
completed cormrectly using six different award of TWO marks.
numbers, &.g.
Accept 0 + 27 as a correct answer.
26 ; 1
25 2 or
20 T
Award ONE mark for any two sums im Any two sums can be correct for the

completed correctly, such that all three

calculations are correct but numbers are
repeated in two of the calculations or there is

an error in one of the calculations, e.g.

26 1 2

award of ONE mark.




21.

18 | 61 (cars) im
22.
25 | Sums completed correctly as shown: im Both sums must be completed comectly

for the award of the mark.

KS1 - 2018 Paper — Reasoning

23.




22 | Award TWO marks for two number 2m Accept any other clear way of indicating

sentances complated comectly, using four the comact answars, @.g. matching correct
different numbser cards from those that are cards to answer boxes.
given, .q.

Do not award amy marks if tha pupil
uses numbears that are nat given in the
queston, e.qg.

93 |+ | 5 | =60

59 |+ | 1 |=|60

15| + | 45 60

50|+ |10 |=|60
25 |+ |35 |=|60

Award ONE mark for any one numbssr 1im
sentence completed camractly using the given
cards only, a.g.

25|+ |35 60

10 [+ |50 | = |60

oOR

Award ONE mark if one number sentence
is correct, but the pupil has used the
same numbers cards for the other number
santence, a.g.

P23 |+ | 5 |=|060

2 |+|55 =60

KS1 - 2019 Paper — Reasoning

24,



13 | Number pairs completed as shown; im Both numbers must be correct for the
award of the mark.
'.'_ . | o (Refer to general marking principles 10
\ 40 [ and 11 on pages 7 and 8.)
|I o ? S II
1 —— |
|
KS1—2022 Paper — Arithmetic
25.
14 | 5 1m
KS1 - 2022 Paper — Reasoning
26.
8 | 31 (beads) im
27.
10 | 100 (stickers) im
28.
27 | All number sentences completed correctly as im | All three numbers must be correct for the

shown:

7

17

27

37

= 34

= 14

= 24

= 4L

award of the mark.




